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 A zygote is potentially a fetus, a fetus is potentially a baby, a baby is 

potentially a child, a child is potentially a teen, a teen potentially an adult, etc. 

 There is no difference between each of these stages of potentiality. Each one 
must occur for the next to happen. The DNA in the zygote is the same as in 

the senior! 

 All these stages are part of the entire life-cycle. Remove any one of these 

stages and you have prevented a human-being from developing. One stage of 

the time-line is no less vital than the other. 

 QUESTION:  It is a crime to kill someone after they are born, but not before 

the day of their birth. Why is this? 

Potentiality (start to finish) of a Human being is:  
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